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HEZE
1= 25,237, 807
THEAEXHR
1= 25,237, 807
EEAE
1= 10, 946, 770
BEERAE BER—) 25D 12.80m. BER—1U2FD 12.00m, BLER—1)25R 8.60m, BLAR—1) 245 @ 38.60m.
1% 10,942, 770 BLER—Y 2T ® 7.00m, FRAERER (GBL)D 6.00E. FEEHER (L) 40.00E,
ANODEOEERER GEL) D 30. 004K, ELNODAEVEMRERGEL) @ 2. 004, #EHE 1. 00=K.
HFEER 100X, EATRE 1.00E. SKRHE 1,008, RESERE 1.00xX, £HEHES 1.00=
EEZEE ELHhBERT - A—RREE 1.00=
1= 4,000
AT
1= 14, 291, 037
ERE AR 1.00X, BEHE (L) 200km, HEREGEL) 20045, BISHEIAEAE 1. 00&,
s 14,291,037 RIHERE 1. 008 AT, Bi5HK 1. 00T, BHHME 1. 00/, B 1.00X. @M - EE 1.00=K.

WA IER (1) 100X, HAMER2) 100K, HHER 1.00X. R2E FEHLT) 1. 00=K.
ZeH (REHEAM 1.00=X, BKEZE 200.00m 2, KERER () 1.00=X, KERIKRH(2) 1.00=,
EEREH (1) 1.00X. HEREF Q) 1.00xX, EIEEE 1.00X. KE 1.00xX. EIXERE 1.00=xK
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1= 10, 946, 770
MERER MiERE
1= 14,291,037
R
1= 15,512,193
—RREEBE
1= 40, 750, 000
REEXBE
1= 40, 750, 000
FEISBMmE
1= 40, 750, 000




